o0 X) (um)

o(d x) (um) for PV

10°|

o(d x) for merged vertices (um)

1.9

Eu e iRk s nav
Lol | L g

20 -15 -10 -5 0 5 10 15 20 0 =15 =10 5 0 B 10 15 20 2015710 -5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)
—=— DQM_TT__mkFit-DQM_original
—— DQM_TT__mkFit-DQM_updated

102 10°

o(0 ) (um)
S,

a(dy) (um) for PV

10 10?

o(d y) for merged vertices (um)

| INIFINITE AN | 1 PO [ AP NI ] L A e
. v 5 h . . . L.e

Ratio
Ratio
Ratio

I
HN

®Oo =15 =10 5 0 5 10 15 20 -20 =15 =10
Vertex z (cm) Vertex z (cm)

0(0 2) (um)

10°
10°E

a(d z) (um) for PV

10%E

o(d z) for merged vertices (um)

Ratio
Ratio

50 -15 10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


